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                                                            âU_Z –UáÛ]á                    

 

Ê[áX@çüz×ïí@ü âRïíZ XOå[áïíXábR ýEýïí]ïíýFýR @üá^ãñ @üïíZ@üAáRá ïí[ïí][ @üáX[á â[GáWÞý @üïí[ñ SïíO îUPóRáO P^ÞïíR[ 

GRó  âPR @üïíZ@ü NÜýá[á íP<Cïí[ âýFýïí]Rñ íP<Cïí[[ @üáïíýFý *@üâýIý B÷áïíX[ XáRå_ïíP[ På[Uyƒÿá íPïíA Ê[áX@çüz× AåU âUýEýâ]Ný 

bïí]Rñ *@üâýIý BáýFý Ný]áZ Uïía SKòýïí]R âNýâRñ íPAïí]R bNýPâ[ÿPù XáRå_ aUñ Jýá@åüïí[[ íýEýáïíA G] *]ñ bÙÿ^á[áZ @üáïíýFý 

Kýá@üïí]R XOå[áïíXábRïí@üñ [áX@çüz× XOå[áïíXábïíR[ báNý PåâýIý Q[ïí]Rñ U]ïí]R NåýâX íNýá Xá[ïíP<ZáR XOå[ñ NåýâX Sá[ Rá *íP[ 

*@üXáOá @üïí[ íNý] #á[ *@üAáRá @üïí[ @üáSKòý âPïíNýñ #á[ ïíSýIý Wýïí[ *@üâPR AábÙÿïíZ âPïíNýñ XOå[áïíXábR U]ïí]R, UáUá 

NýãïíOÞ #íR@ü A[ýEý bïíUñ NýáýFýáKòýá *Ný í]á@ü *íP[ Aá<ZáïíNý Pá<ZáïíNý íBïí] #íR@ü ýIýá@üá ]áBïíUñ ýIýá@üá[ #RýIýR bïíZ íYïíNý 

Sáïí[ UáUáñ [áX@çüz× *@ü HüýIý@üáZ XOå[áïíXábïíR[ báNý íýFýïíKòý âPïíZ ýFåýïíýIý ýEýïí] íBïí]R íabÙ ÿ í]á@ü|üâ][ P§ÿïí] U]ïí]R, Pæ[ 

íNýá[! #áâX @üá^ã YáU Ráñ #áâX *íP[ @üáïíýFýbÙÿ Oá@üïíUáñ 

 

RãïíýEý[ S÷r…|üâ][ KÙýºý[ Pá< KÙýSïí[[ #RåïífFýP íOïí@ü Ú 1x 5=5 
1) XOå[áïíXábR í@ü âýFýïí]R? 2) Ê[áX@çüïíz×[ íýEýáïíA G] *ía âýFý] í@üR? 3) XOå[áíXábïíR[ báNý Qïí[ Ê[áX@çüz× @üã Uïí] 

âýFýïí]R?   4) “Pæ[ íNýá[! @üá^ã YáU Ráñ #áâX *íP[ @üáïíýFýbÙÿ Oá@üïíUáñ” - Uºýôá í@üR *@üOá U]ïí]R?  5) “*Ný í]á@ü 

*íP[ Aá<ZáïíNý Pá<ZáïíNý íBïí] #íR@ü ýIýá@üá ]áBïíUñ” - *AáïíR Uºýôá[ í@üáRà XáRâa@üNýá[ S÷@üá^ SáZ?  

 

2) RãïíýEý[ S÷r…|üâ][ KÙýºý[ Pá<                                               2+1+1+1+2+1 =8 

@ü)  i) KÙýïí½^ó *UÛ âUïíQZ @üáïí@ü Uïí] KÙýPáb[M ab í]Añ ii) Q‡âR @üáïí@ü Uïí]?  (KÙýPáb[M íPïíUñ)  iii) S÷âNý^oP Uá 

aXáOÞ@ü ^oP ïí]Añ (#ÿw‚Ný PåâýIý) Ú-  Tåü] -   iv) }ük„ý UáRáRâýIý í]A Ú-^^ãWæý_M - ^â^Wæý_M, Så[y€ýá[ - Så[ÿt€ýá[   v) 
<ÌýUMÞ @üáí@ü Uïí]? <ÌýUMÞ *[ KÙýPáb[M Pá<ñ vi) aâl„ýâUïífFýP @ü[ Ú -   NýãïíOÞáP@ü,  #RåXNýóRåaáïí[  
4)Uá@üó [ýEýRá @ü[ Ú            2 

#á@üá^@åüaåX ------,  #áí]á[ïí[Aá ---------,  #áïí]áKòýR --------, #áv›áR  -------        

       

  Subject – Mathematics                                                                                    

                                                               Part –A 
 Answer the following questions.              1X5=5                                                                                                              

1) Arrange the following values in ascending order.    
1

2
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 ,    
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4
 ,    

1

3
  .  2)  What will be the dividend 

when the Quotient is 23, remainder is 9 and divisor is 29?  3) Why is 2 a prime number in spite being an 
even number?  4) How many types of triangles are there and what are they? 5) One year equals to how 
many hours? 
                                                                 Part-B                       
 Answer the following questions.               2X3=6                                                                                                                               
1) Age of father is twice that of his son. If the present age of son is 20 years. What was the age of father 5 
years ago?  2) Kamal went to market with Rs.300. The rate of Potato was Rs.10 per Kg, the rate of Fish was 
Rs.200 per Kg and the rate of pointed Gourd was Rs.30. per Kg. Kamal bought 2 kg of Potato, 500 gm of 
Fish and 1.5 Kg of Gourd. What was the amount of money left with Kamal?  3) 87 students went to a 
educational tour to Mahananda river. They carried with them 180 boiled eggs and 360 bananas for Tiffin. 
After distributing equal number of eggs and bananas among the students, the rest were distributed to 
shepherd boys. How many eggs and bananas the shepherd boys got? 

                                                            Part-C                            
Answer the following questions.        3X3=9                                                                                                                   
1) A cubical wooden box in the shape of a Ludo layout having length of 1.5 m is covered along the edges 
with iron plate. Calculate the length of iron plate needed to cover the edges of the wooden box? 

2) The manufacturing cost of a bag is Rs.220. If the bag is sold at Rs.244., then what is the profit 

percentage on that bag?  3) There are 20 days of food for 5 persons in a camp. After 2 days 3 

persons left the camp. For how many days the camp will last with the remaining food? 



Subject - English                                   
     One morning I went to Vivekananda Government High School with my maternal uncle. The 

class teacher gave me a few questions to answer and also a few sums to solve. I wrote the answers, 

solved the sums and showed them to the teacher. He went through the answers and nodded. His 

gesture indicated that my answers were correct and thus I was admitted to the school. 

     Vivekananda Government High School was on the eastern side of the beltala Road Police 

Station. The southern part of the school was our playground. It was surrounded by a lofty wall. 

When seen from above, the school looked like the English letter “T”. The vertical part of the “T” 

was the hall of the school and the horizontal part of the letter was formed by the row of classrooms. 

The annual prize distribution ceremony was held in this hall, which had a gallery as well. Feasts, on 

occasion of Saraswati Puja, were also arranged here.  I still remember the experience of watching a 

Shakespearean play in this hall. The play was The Merchant of Venice, a few scenes from which 

were performed by a couple of foreign actor actors called Greenberg and Salim. A Charlie Chaplin 

movie was also screened here once. 
 
1) Answer the following questions  from the above text.      1x3=3 
 
i) How was the narrator admitted to the Government High school? Ii) Where was the school situated? iii) 
Describe the structure of the school ?  iv) Who were Greenberg and Salim? Why are their names 
mentioned here? 

2) Write True or False (Mark T for True and F for False) in the  bracket  given.  
1

2
𝑥4 = 2 

i. The experience of the narrator at the first day at school was frustrating.   (                  ) 

ii. The narrator came to know from the physical gesture of the teacher that  

his answers were correct.                                                                                         (                  ) 

iii. The prize distribution ceremony was held in the school in every two years.  (                  ) 

iv. Charlie Chaplin was a famous writer.       (                  ) 

3) Find the meaning of the following words from the above passage.                       
1

2
𝑥4 = 2 

i) Very tall   ii) Movement of the part of the body especially a hand or the head iii) Upright iv) 
Handover/delivery 

Grammar 
Fill in the blanks with appropriate Articles.                      (

1

2
𝑥2) 𝑥3 = 3 

 i) Jimmy played chopin ________     _________ guitar. Ii) It’s ________ best coffee I have had _______ 
years. iii) My mother bought _______ bottle of oil _______ the supermarket. iv)  _________ way home we 
saw ______ ewe hiding in a bush. 
Translate into English :           1x2=2 
a)pL¡m ­b­L j¤omd¡­l hª¢ø q­µR z b) NahRl HC¢c­e a¡l¡ jq¡j¡¢l­a a¡­cl #áiŠãZïí@ü q¡¢l­u ¢Rmz c) hm¡ pqS ¢L¿¹¥ Ll¡ L¢Wez 

d) j¡e¤o j¡­œC i¥m quz e) Aˆ¢V HaC L¢We ­k Bjl¡ ­LEC Ll­a f¡¢l¢ez 

Write a paragraph about your future plan.          3 

 

 

 


